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QUESTION 1

Given: 

public class Painting { 

private String type; 

public String getType() { 

return type; 

} 

public void setType(String type) { 

this.type = type; 

} 

public static void main(String[] args) { 

Painting obj1 = new Painting(); 

Painting obj2 = new Painting(); 

obj1.setType(null); 

obj2.setType("Fresco"); 

System.out.print(obj1.getType() + " : " + obj2.getType()); 

} 

} 

What is the result? 

A. : Fresco 

B. null : Fresco 

C. Fresco : Fresco 

D. A NullPointerException is thrown at runtime 

Correct Answer: B 

 

QUESTION 2

Given: 

class Overloading { 

1Z0-808 PDF Dumps | 1Z0-808 VCE Dumps | 1Z0-808 Braindumps                                2 / 7

https://www.pass4itsure.com/1z0-808.html
https://www.pass4itsure.com/1z0-808.html
https://www.pass4itsure.com/1z0-808.html


https://www.pass4itsure.com/1z0-808.html
2024 Latest pass4itsure 1Z0-808 PDF and VCE dumps Download

int x(double d) { 

System.out.println("one"); 

return 0; 

} 

String x(double d) { 

System.out.println("two"); 

return null; 

} 

double x(double d) { 

System.out.println("three"); 

return 0.0; 

} 

public static void main(String[] args) { 

new Overloading().x(4.0); 

} 

} 

What is the result? 

A. One 

B. Two 

C. Three 

D. Compilation fails. 

Correct Answer: D 

 

 

QUESTION 3

Given the code fragment: 
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What is the result? 

A. 20 

B. 25 

C. 29 

D. Compilation fails 

E. AnArrayIndexOutOfBoundsException is thrown at runtime 

Correct Answer: A 

 

QUESTION 4

Given: 
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And: 
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What is the result? 

A. ns = 100 s =125 ns = 0 s = 125 ns = 125 s = 125 

B. ns = 50 s = 50 ns = 125 s = 125 ns = 0 s = 125 

C. ns = 50 s = 125 ns = 125 s = 125 ns = 0 s = 125 

D. ns = 50 s = 50 ns = 125 s =125 ns = 100 s =100 

Correct Answer: A 

 

The answer is the letter A, there is no way for the value of ref1.ns to be equal to 50 if it hasn\\'t even been instantiated
yet and "ns" is not static. alternatives B and D are wrong because a static variable "s" can only have a single reference
value. 

 

 

QUESTION 5

Given: 
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And given the code fragment: 

What is the result? 

A. Compilation fails at line n2. 

B. Read Book C. Read E-Book 

D. Compilation fails at line n1. 

E. Compilation fails at line n3. 

Correct Answer: E 
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